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Cluster: 0241 ptr; resid: 0.23; r/c: 24/82

x.range

upstream meme PSSM #1; e=26

1 3 5 7 91 3 5 7 9

x.range

y.
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upstream meme PSSM #2; e=7.3e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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15423

27719

12520

13549

14636

15844

16960

19949

37608

42688

42723

42749

43076
43174

44816

46099

46361

46780

48515

4886549185

49495

51869

9267

string −500 −400 −300 −200 −100 −1
48865−0.08
46780−0.10

9267−0.24
42749−0.26
15844−0.32
14636−0.32
51869−0.36
46361−0.47
42688−0.74
46099−1.01
44816−1.16
37608−1.17
15423−1.35
27719−1.52
43076−1.65
19949−1.82
49495−1.84
48515−1.96
43174−3.67
42723−4.64
12520−5.14
16960−6.09
49185−6.63
13549−9.99

log10(P) upstream meme1 2 log10(P.clust)=−2.19; 24 seqs; 24 uniq
c(0.5, 2.5)
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